PRE-COLLEGE MATH
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Review for Test 2






Period____  Date_______________
Divide using polynomial long division.
1)  
[image: image1.wmf](

)

(

)

42

79102

xxxx

-+-¸-



  

2)  
[image: image2.wmf](

)

(

)

322

8512103

xxxx

+-+¸-






Divide using synthetic division.
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Factor the polynomials completely.
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Solve the polynomial equations.
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Solve the following inequalities, and graph the solutions on the number line.
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11)  The height of a box is 5 inches less than twice the width of the box.  The length is 3 inches more than the width.  The volume of the box is 1404 in3.  What are the dimensions of the box?  (V = lwh)
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